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Sample Paper – 2010

Class – X

Subject – Mathematics    

GENERAL INSRTUCTIONS:-
The question paper consists of 30 questions divided into four sections– A, B, C and D. Section A comprises of ten questions of 1 mark each, Section B comprises of five questions of 2 marks each, Section C comprises of ten questions of 3 marks each, and Section D comprises of five questions of 6 marks each
SECTION – A

1. Find the sum and product of zeros of the polynomial 
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2. If the equation 
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has real and distinct roots, then find k. 
3. If the nth term of the A.P. 
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 is 129, find the value of n.
4. If
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is a rational number
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, what is the condition on q so that the decimal representation of 
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is terminating?  
5. Find the value of 
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6. If (ABC ~ (DEF, 
[image: image8.wmf]Ð

A =
[image: image9.wmf]°

33

 and 
[image: image10.wmf]Ð

E =
[image: image11.wmf]°

74

. Find 
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C.
7. The sides of a triangle are 5cm, 12cm and 13cm. Check if this triangle is a right triangle.
8. A solid sphere of radius r is melted and a solid cone of height r is made from it. Find the radius of the base of the cone.
9. A die is thrown once. Find the probability of getting a number greater than 4.
10. Find the median class of the following frequency distribution?
	Class 
	0 - 10
	10 - 20
	20 - 30
	30 - 40
	40 - 50
	50 - 60

	Frequency  
	8
	7
	13
	9
	10
	3


SECTION – B

11. Find the zeros of the polynomial : 
[image: image13.wmf].
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12. Evaluate : 
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13. The vertices of a triangle are A(3, 4), B(7, 2) and C(-2, -5). Find the length of the median through the vertex A.
14. [image: image1.wmf].
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In the adjoining figure, 
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  Prove that 
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 is an isosceles triangle. 
15. A card is drawn at random from a well shuffled deck of 52 cards. Find the probability of not getting :
 

(i) a face card

(ii) a queen or a king.

OR

A bag contains 3 red and 5 white balls. A ball is drawn at random from the bag. Find the probability that the ball drawn is :


(i) not white 

(ii) white.
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SECTION – C

16. Prove that 
[image: image18.wmf]3

 is not a rational number.
17. A square OABC is inscribed in a quadrant OPBQ. If OA = 20 cm, 
find the area of the shaded region. (Use π = 3.14)

OR

Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10 km/h. How much area will it irrigate in 30 minutes, if 8 cm of standing water is needed?

18. Prove that : 
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19. Divide 
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 by 
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 and verify the division algorithm.

OR
Obtain all the zeros of the polynomial
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, if two of its zeros are 
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20. A train covered a certain distance at a uniform speed. If the train would have been 10 km/h faster, it would have taken 2 hours less than the scheduled time. And, if the train were slower by 10 km/h; it would have taken 3 hours more than the scheduled time. Find the distance covered by the train.
21. Find the sum of 
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OR
200 logs are stacked in the following manner : 20 logs in the bottom row, 19 in the next row, 18 in the row next to it and so on. In how many rows are the 200 logs placed and how many logs are in the top row?

22. Prove that the parallelogram circumscribing a circle is a rhombus.
23. Show that (7, 10), (3, −4) and (−2, 5) are the vertices of an isosceles triangle.
24. Find the ratio in which the line 
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divides the line segment joining the points (1, 3) and (2, 7).

25. Draw a circle of radius 3 cm. From a point 5 cm away from its centre, construct the pair of tangents to the circle and measure their lengths.
SECTION – D
26. Daily pocket expenses (in Rs) of 80 students of a school are given in the table below :

	Expense (in Rs)
	0 - 5
	5 - 10
	10 - 15
	15 - 20
	20 - 25
	25 - 30
	30 - 35

	No. of students
	5
	15
	20
	10
	10
	15
	5


Draw ‘less than’ and ‘more than’ ogives on the same graph and hence find the median of the frequency distribution.
27. From a point P on the ground the angle of elevation of the top of a 10 m tall building is 30°. A flag is hoisted at the top of the building and the angle of elevation of the top of the flagstaff from P is 45°. Find the length of the flagstaff and the distance of the building from the point P.
28. The hypotenuse of right-angled triangle is 3
[image: image27.wmf]5

cm. If the smaller side is tripled and the larger side is doubled, the new hypotenuse will be 15 cm. find the length of each side.
OR
Two water taps together can fill a tank in 
[image: image28.wmf]8
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hours. If one tap takes 10 hours less than the other to fill the tank separately, find the time in which each tap would fill the tank separately.
29. Prove that in a right angled triangle, the square of the hypotenuse is equal to the sum of the squares of the other two sides.
Using the above, do the following:
In an equilateral triangle, prove that three times the square of one side is equal to four times the square of one of its altitudes.
30. A tent is in the shape of a cylinder surmounted by a conical top. If the height and diameter of the cylindrical part are 2.1 m and 4 m respectively, and the slant height of the top is 2.8 m, find the area of the canvas used for making the tent. Also, find the cost of the canvas of the tent at the rate of Rs 500 per m2.
OR
A metallic right circular cone 20 cm high and whose vertical angle is 60° is cut into two parts at the middle of its height by a plane parallel to its base. If the frustum so obtained be drawn into a wire of diameter 
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cm, find the length of the wire.
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